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5877) ZEIGAl 80,000 |MH = 7tE
5877) BG4l 24,000 [|24A|ptEES=E 3 7tE
2902) EEHZAl 28,000 [y & 2 7tE
5877) T EgAl 24,000 |HHMHD2H Sk 7tE
5877) ZEGA 24,000 |d2|nz=4t A 7tE
5877) eG4l 16,000 |[HF2|H0| X2 7tE
2589) T &g Al 30,000 |[O|REMAE S 7tE
2902) ZEaAl 12,000 |Al@l X &2l 7tE
5877) ZEGAl 31,000 EH%EPLPSE ! 7tE
5878) T oAl 95,000 0| +0| X2 7tE
5877) & g4l 22,000 %% CH & 2 7tE
5877) oAl 8,000 |2X|CICtE =8 X2l 7tE
5877) ZE a4l 16,000 | =28XH Z K| % 74 X2l 7tE
2589) T EoAl 36,000 |[E2 X &2 7tE
2590) ZEEAl 92,000 |[==&0{70] X2l 7tE
5877) T &G4l 16,000 |ZAE=ENA Sk 7tE
2589) ZEEAl 360,000 |&H Sk 7tE
2590) £ EHZAl 60,000 |O|RHEAAHE X &2 7tE
8350) OS5 =4 40,000 |FREFHEET Sk 7tE
8350) Ot S =4 24,000 |[GQHAIE OIS Sk 7tE
5877) &G4l 45000 |&=712H 2 XHE X2l 7tE
8350) OFE 4! 56,000 |[JHHX|ZE{EI= X &2 7tE
5877) =B oA 16,000 |E2|FHL| X2l 7tE
2589) L EHZAl 34,000 |HHSEM 7K X2 =
8350) Ot S =4 24,000 [0 HHEOIEH 3 7tE
5877) &= Al 15,800 |HHZ X2 =
5877) BG4 16,000 |27t ZEXHE X2l 7tE
5877) T EZAl 40,000 |[=X[Aael=g X2 =
2589) £ EHg4l 40,000 |22} X2l 7tE
2902) ZEFZAl 84,000 |[HO|A 22 7tE
8350) Ot =4 24,000 [MESEHEHLH| X2l 7tE
5877) =BG A 16,000 |F2ot=HE 3 =
5877) ZE Al 40,000 |Al=Z X2l 7tE
8350) OFE &4 24,000 |[s2i0|5AHEO0| &2 7tE
5877) T =4 8,000 |Ez2|FOL| X2l 7tE
8350) OFE =4 16,000 |[CIQtAITIOIET SEE 7tE
5877) T =4 32,000 [HAotAH Sk 7tE
2589) T & oAl 16,000 |=2 2 8 7tE
8350) Ot S =4 16,000 |L|XIOMEOEH Sk 7tE




12-13 | 8350) Ot=2F4A! 32,000 [OOMEHEOCLEH 3 7tE
12-14 | 5877) EEZAl 15,500 [HAHZ e 7tE
12-14 | 5877) EEZAl 30,000 |O|2|F0iE k= 7tE
12-14 | 2589) EErgAl 24,000 [24A|ptESE S 7tE
12-14 | 8350) Ot=2F4A! 7,800 |H|AHO|YMBI2H 3 7tE
12-14 | 8350) Ot=EZA! 32,000 |2Eeii=Cl= & 2 7tE
12-15 5877) T &G4l 8,000 |MZ= 3 7tE
12-15 | 5877) ZEZA! 8,000 [Z7hari ZHX}E S 7tE
12-15 | 2589) EEr54! 24,000 |[E2|FHL X2 7tE
12-15 | 2589) EErgAl 8,000 |AIO|EAH O & 2 7tE
12-15 | 2902) EErZAl 24,000 |[o|7tE%E X2l 7tE
12-15 | 8350) Ot=EZA! 80,000 |HaY S 7tE
12-16 | 5877) EE 54! 8,000 |&72H ZHKHE X2 7tE
12-16 | 2589) EErgAl 120,000 | S 7tE
12-16 | 8350) Of=ZAl 16,000 [S2t0|FAHE0] X2l 7tE
12-16 | 8350) Ot=EZ A 40,000 |THHX|ZEfRI= & 2 7tE
12-17 | 2902) EE54! 32,000 |O]7}8&E X2 7tE
12-18 | 2589) ZErZAl 16,000 |MS Sk 7tE
12-18 | 2589) EEr54! 16,000 |O|2|xF0{& X2l 7tE
12-18 | 8350) Ol 24! 40,000 |FREEHAHY Sk 7tE
12-18 | 8350) Ot=F4A! 8,000 |VOEEOHE Sk 7tE
12-19 | 2589) ZEZAl 23,800 |[MZ°| 1 X2l 7tE
12-19 | 8350) Of=E 24l 16,000 %:LE%DI"A* 50| X2l 7tE
12-20 | 2902) Z=E5Al 29,000 |ME|ME|BX|Z= X2l 7tE
12-21 5877) T E5Al 30,000 |[O|REAAHE Sk 7tE
12-22 5877) ZE=A 32,000 |27h2hH 2R X2l 7tE
12-22 | 5877) EEZAl 16,000 [24A|BHE S k= 7tE
12-22 | 2589) &5l 8,000 |MS 3 7tE
12-22 | 2589) ZEZAl 16,000 |7I&CIA=FE X2 =
12-22 | 2589) ZEZAl 64,000 (0|2 X2l 7tE
12-22 | 2902) ZEZAl 24,000 |EE2|FO{L] X2 =
12-22 | 8350) Ot 24 16,000 |25 OIEH X2l 7tE
12-23 5877) T EZAl 239,000 |Al9l 3 =
12-23 5877) ZE Al 141,000 |22l X2l 7tE
12-23 2589) L EHZAl 16,000 |F|=H|0|= X2 =
12-23 2589) £ EHg4l 56,000 |= 72 ZRHE X2l 7tE
12-25 | 2589) ZErZAl 24,000 |SEAE X2 =
12-25 | 8350) Ot=2 4! 16,000 |FEEFO| X2l 7tE
12-26 | 2589) ZErZAl 8,000 |MH[1nOFZIg} 23 =
12-26 | 2589) ZEr54Al 16,000 |27t ZEXHE X2l 7tE
12-27 | 5877) EEE4 24,000 [24A|ptES=E &2 7IE
12-27 | 2589) ZEZ4Al 80,000 |[ZIMOt+H X2l 7tE
12-27 | 8350) Of=ZAl 32,000 |FABIAN & SEE 7tE




12-28 | 5877) EEFA! 48,000 |DHLIE=EHH 3 7tE
12-28 | 5877) ZEZA 11,700 |ZAHX|ZE e 7tE
12-28 | 2589) EEr5A! 8,000 |EAHX] X2l 7tE
12-28 | 8350) OI=EZ A 15600 Mo I & 2l 7tE
12-28 | 8350) Ot=2 4! 48,000 |AAEH|OIEH 3 7tE
12-29 | 5877) ZEZA 16,000 |E2|F0{L| & 2 7tE
12-29 | 5877) EEFA! 136,000 |<OFStIfAE} X2l 7tE
12-29 | 5877) ZEZA 32,000 [HHX|ZEfEI= & 2 7tE
12-29 | 2589) EEr54! 24,000 [MZo| A= X2 7tE
12-29 | 2589) EErZAl 8,000 |=EMz{7| & 2 7tE
12-29 | 2589) EEr54! 311,000 |&&ZHEH X2l 7tE
12-30 5877) TEISA 24,000 |O|2HAMAH xl g e
12-30 | 5877) EEFA! 24,000 |MH Sk 7tE
12-30 | 5877) EEZAl 84,000 |I| K} S 7tE
12-30 | 2589) EEr54! 240,000 |Al& X2l 7tE
12-30 | 2589) EEHFAl 160,000 |AFO|SAFH Of & 2 7tE
12-30 | 2589) EEr54! 232,000 |AFO|SAH O] X2 7tE
12-30 | 2589) = &5 Al 350,000 |EHZAE Sk 7tE
12-30 | 2589) EEr54! 24,000 |27}t ZEAE X2l 7tE
12-30 | 2589) ZEgA 72,000 [et|EA Sk 7tE
12-30 | 8350) Ot=2F4A! 416,000 [(MBZ Sk 7tE
12-30 | 8350) OFE 24! 296,000 7rL1|3 EHECHR| 7| X2l 7tE
12-30 | 8350) Ot=2F4A! 200,000 |EXdEH = X2l 7tE
12-30 | 8350) OLE 24! 40,000 [FAZIAES X2l 7tE
12-30 | 8350) Of=E 24l 120,000 |DE0IZet S 7tE
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